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1. Answer the following questions
LeTeu(HlD eeTHHEHHE allenl U6l
A. The weight (in kg) of 13 students in a class are 42.5, 47.5, 48.6, 50.5, 49,
46.2,49.8, 45.8, 43.2, 48, 44.7, 46.9, 42.4. Find the range and coefficient of

range.

@0 alGlileeTten 13 iomewiauTdeier el (&H.8) eteurpomml. 42.5, 47.5,
48.6, 50.5, 49, 46.2, 49.8, 45.8, 43.2, 48, 44.7, 46.9, 42.4. QaupPlen aiFs
OBBID aiFgid OH(pmeldh SHTEmIS.
Solution:
Let us arrange the given data in the ascending order.
42.4,42.5,43.2,44.7,45.8,46.2,46.9,47.5, 48, 48.6, 49, 49.8, 50.5
From the given data, the largest value L= 50.5 and the smallest value S =
424

Range=L-S

=505-424=81
L-S 505-424 81

The coefficient of range = = -
L+S 505+424 929

= 0.087

. One of the diagonals of a rhombus is thrice as the other. If the sum of
the length of the diagonals is 24 cm, then find the area of the rhombus.
R FTUFHTHHET  cpenevail L enedeient  gmBHev 24 5. @@
cpemeVRll L SHFHeT  jeey  BEMT[H  cwemevall L Sleneneull  Gumev  eeaiImI
DL BI@G 6TeMed SIH6 LITLILIGTen6IS HTewIsb.

Solution:
Given : one of the diagonals of a rhombus is thrice the other.
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= dz = 3d1

sum of the length of the diagonals = 24 cm
=di+d2=24cm
=d;+3d; =24
=4d, =24

=d, =%:60m
4

=d; =6 cm
From (1) d, = 3d:

=3x%x6

=d, =18 cm

Area of the rhombus = % d; % dz sq. units

=1X6X18
2
= 54 sq.cm

2. Answer the following questions
LNeTeu(HLD e B EHEHE  allenL U6

A. Find the mode for the following frequency table

Wages (I 250 | 300 | 350 | 400 |450
Number of Workers |10 |15 |16 |12 |11

LesTeu(hld HdBDGleuemT LI IQUIsIdh@ (BB HTewIsH.

g6l ) 250 | 300 | 350 400 | 450
Gipmiplevmenireseiileir 10 |15 |16 |12 |11

6T6U0T 6001 E560) b

Wages ) Number of workers

250 10

300 15

350 16

400 12

450 11

500 13
We observe from the above table that the maximum frequency is 16. The
value of the variate (wage) corresponding to the maximum frequency 16 is
350. This is the mode of the given data.
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B. A cubical tank can hold 64,000 litres of water. Find the length of its side
in metres.
RH HUFFHT algal bIH T puimerd 64,000 LT By OC&TeTEnD
aIealleL, DIbHH OHTLIQUIET LSBHSH T HeTHend LOLLI[Fe0 HTewIs.
Solution:
Let 'a' be the side of cubical tank.
Here, volume of the tank = 64,000 litres
i.e., a® = 64,000 = % (Since, 1000 litres = 1m?)
ad =64 m3
a= 64 a=4am
There fore, length of the side of the tank is 4 metres.

Find the mean, standard deviation and variance of 21 natural numbers.
WPHe0 21 Buied eemideiad (B Fumam, HL  alevdsld, WwBBID ealevds
ATES FITaFf HTewIb.
Solution:

n =21,

mean (x) = da'

n®-1
12

Standard deviation = =

_ /(21)2—1

N 12

= /36.66

S.D (o)=6.05

Variance (o) = 36.66

The ratio of the radii of two right circular cones of same height is 1:3.
Find the ratio of their curved surface area when the height of each cone is

3 times the radius of the smaller cone.
g0 o wrmsmenumLuw &m GhJ euLd ambyseler oImiseT 1:3  6l6ms
A& HHH6L 2 _slTerent. gibyseiler o wgb Bl gmblel SIHHT  CLaIm
DL MG 6T6lley, euemenUTLiLFelen al&SlHd HTewmrs.
Solution:

Let the radius of the first cone be 'x' and the Height of the cone be 3x
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| =/h?+r?
= \f(sx)z +x2 =/10%?
C.S.A of the first cone = 7l sq.units

= 7xxy10x?
= 7x2\10
The radius and the height of the second cone is 3x (Given)
| =(3%)% +(3%)°
—J9x2 + 9x? =/18%?
C.S.A. of the second cone
=X 3X><\/187
= 7x3x2x~[9x 2
= 79x> \/E
Ratio of the curved surface area
= 7x2J10:97x%2
= J10:92
= 2x5:92
= «/5 9

A park is in the shape of a quadrilateral. The sides of the park are 15 m, 20
m, 26 m and 17 m and the angle between the first two sides is a right angle.

Find the area of the park.
Qb  UMISTOITEIH BIBET  eUgaleeendl. b LUhSTalS LHD D66 D6
weopGuw 15 15, 20 15, 26 5 wwB@bd 17 5 LBBID (WHO BTeni®
LSBMIBEHDHEG SenL Guiujeiten Gsmmewild OCFmIGHTeID 6lelled LMIBTaN6T LITLINLIS
SBITE0T .
Solution:

ABCD be the quadrilateral

ABC is a right triangle and ~ B =90°
AC = \AB? +BC?
= 15° +20°
= 225+400
= 625=25

Area of the AABC = % x base X height

- %x15><20=1500m2

Area of AACD whose sides are 26 cm, 25 cm, 17 cm

a+b+c 26+25+17 68
2 2 2
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Area of triangle = \/s(s—a)(s—b)(s—¢)
= \[34(34-26) (34— 25)(34-17)
- (BB
= 2x17x2x4x3x3x17
=17x2x2x3
=204 cm?
Area of the quadrilateral = 150 + 204 = 354 cm?

15 Mark

Following are the runs scored by two batsmen in 5 cricket matches. Who is
more consistent in scoring runs.

Batsman A 38 | 47 34 18 33
Batsman B 37 | 35 41 27 35
5 &fésosl  alememwm Gl Curlysefled @gewi® WLewL  &ifiTdeT 6BHHSD
PULMmSET (runs) Lemeuhomp. SieTEened @ULmseT aBUUBed W oiHls
FTemInd HEIeMID 6L UIUT?

L enL aigT A 38 | 47 34 18 33
e aiyT B 3% 35 41 27

Batsman A Batsman B
X d=x-x X
18 - 16 27
33 -1 35
34 0 35
38 4 37
47 13 41

D x=170 0 D x=175

Now i:?:m iz%z%

d? d?
o /Z o /Z
n n
_ %2:«/88_4 = %:\/20.8

=04 =4.6

Coefficient of variation, C.V.= 94100 Coefficient of variation = Zx100
X X

= 9;4><100 = 4;6><100
34 35
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= 27.65 = 4_60:%_13 14
3B 7

The coefficient of variation for the runs.
The coefficient of variation for the scored by batsman A is 27.65 (1) runs
scored by batsman B is = 13.14 (2)
From (1) and (2), the coefficient of variation for B is less than the coefficient
of variation for A.
Batsman B is more consistent than the batsman A in scoring the runs.

Answer the following questions
LNesTou(hlD T BEHHE allenl uler

A. Find the radius, central angle and perimeter of a sector whose arc

length and area are 27.5 cm and 618.75 cm?2respectively.
allebelletT Hed 27.5 Q&F.5, ugluene] 618.75 F.0&.10 OsmewiL el L&
GamemtliLig g uller SLILD, emLOWISHBBIT6uTLD LOBMILD SBBeT6)
B UIIBDBSH  HTEWISH.
Solution:

Arc length = 27.5 cm

Area of sector = 618.75 cm?

— o x 71’ =618.75cm?
360°

— 4 x277r =27.5cm?
360°

2

0
——xnxr
360° _618.75 oy
01360°x2zr 275

618.75x2 _45em
27.5

Radius of sector = 45 cm

4 x2><gx45 27.5=0=
360° 7

% 27.5%360° _
44 x 45
Central angle = 35°

[e]

Perrimeter = 36900 x27r+2r=27.5 +2x45

=1175cm

B. A conical container is fully filled with petrol. The radius is 10m and the
height is 15 m. If the container can release the petrol through its bottom
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at the rate of 25 cu. meter per minute, in how many minutes the
container will be emptied. Round off your answer to the nearest minute.
o 10 BLL@pd, o wgh 15 1LL@D 2 LW @ Salby  elgeldH
Oameidevet (Wpemwwirsll GulGymeomsd miFbLlujeTengl. HIOLSHHBEG 25 e
ULy QulGymed Oameiiseveien Suglipd  auflwnsd  GeusfGuiBmLL L Ted
assHmer  HOLmseNe0  O@meiseuadr  STelWm@L.  allewlenw!  BIOL S
HOSSONBS SH(HS-

Solution:

Radius of the conical container (r) = 10m

Height of the container (h) =15 m

Volume of the container = %nrzh cu.units

= 1,22 10x10x15cum
37

22x10x10x%5
= ———— —cum
7
Volume of thecontainer
Volumeof Perol releaseinone minute
_ 22x10x10x5

Time taken = ==———""—""" minutes
7%x25

22x10x2
7
= 63 minutes (approximate)

Time tanken =

= minutes = 62.86 minutes

In a rectangular field which measures 15 m x 8m, cows are tied with a
rope of length 3m at four corners of the field and also at the centre.
Find the area of the field where none of the cow can graze. (= = 3.14)
15 6 X 8 15 eleti3 Slenayeiien GF6laus 6ugal Heuh et 4 Lpen6evH6TeID
I  Bhaled 3 15 Hen(weTen  SUIBBTEL LIGSHSH6T S LLILIL (HeiTermeot
aefed el Ll  UFUTEID UBdeT Guwiiulngd UG Huler  UFLileTenelsh
srewis. (r =3.14)
Solution:
Area of the field where none of the cow can graze = Area of the
rectangle - [Area of 4 quadrant circles] - Area of a circle

/ E
7%

I5m
Area of the rectangle =1 % b sq.units

=15 x 8m?2=120 m?

7 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




Area of 4 quadrant circles = 4
L v units

Radius of the circle = 3m

Area of 4 quadrant circles = 4><%><3.14><3><3 =28.26m*

Area of the circle at the middle = zr? units
=3.14 x 3 x 3m? = 28.26m?
=15 x 8 m? = 120m?
Area where none of the cows can graze
= (120 - 28.26 - 28.26)m?
=120 - 56.52m?
= 63.48m?
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